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oS Switch Case :

#include <mega32.h>
#include <stdio.h>
#include <delay.h>

char sen;

void main(void)
{

X
X
X
% PORTA=0x00;
X
X
X
X

DDRA=0x00;
PORTB=0x00;
DDRB=0x00;

PORTC=0x00;

DDRC=0x00;




24,

PORTD=0x00;
DDRD=0xF8;
TCCRO=0x00;
TCNTO0=0x00;
OCRO0=0x00;

//Timer/Counter 1 initialization
//Clock source: System Clock
//Clock value: 125.000 kHz
//Mode: Fast PWM top=0x00FF
//OC1A output: Non-Inv.

//OC1B output: Non-Inv.

//Input Capture on Falling Edge
//Timerl Overflow Interrupt: Off
//Input Capture Interrupt: Off
//ICompare A Match Interrupt: Off
//ICompare B Match Interrupt: Off

TCCR1A=0xA1;
TCCR1B=0x0B;
TCNT1H=0x00;
TCNT1L=0x00;
ICR1H=0x00;
ICR1L=0x00;
OCR1AH=0x00;
OCR1AL=0x00;
OCR1BH=0x00;

OCR1BL=0x00;




N= ASSR=0x00;
(24 TCCR2=0x00;

~ TCNT2=0x00;

Do %) OCR2=0x00;
2R MCUCR=0x00;
N MCUCSR=0x00;
2/~ TIMSK=0x00;
o ACSR=0x80;
N- SFIOR=0x00;

2L~ //ADC initialization
N= //ADC disabled

N A ADCSRA=0x00;
SPCR=0x00;
TWCR=0x00;

//LED STARTING FLAG 9550 b Gy 31 31 8l Culgio § dale 4 39)9 31 JB 95 @l Il Hud (b

PORTD.7=1;

delay_ms (100);

24,

PORTD.7=0;

while (1)

/1 PORTD.3 & OCR1B LINKED TO LEFT MOTOR

// PORTD.6 & OCR1A LINKED TO RIGHT MOTOR

if(PINC.0==1) sen=0b1000000000000000000000;
if(PINC.1==1) sen=sen |0b0100000000000000000000 ;
if(PINC.2==1) sen=sen | 0b0010000000000000000000;
if(PINC.3==1) sen=sen | 0b0001000000000000000000;

if(PINC.4==1) sen=sen |0b0000100000000000000000;

% 5en=0b0000000000000000000000; LI 35 laygaciar Al i 3




N= if(PINC.5==1) sen=sen | 0b0000010000000000000000;
(24 if(PINC.6==1) sen=sen | 0b0000001000000000000000;
A if(PINC.7==1) sen=sen | 0b0000000100000000000000;
Do 700 if(PIND.0==1) sen=sen | 0b0000000010000000000000;
2R if(PIND.1==1) sen=sen |0b0000000001000000000000;
v A if(PINA.5==1) sen=sen|0b0000000000100000000000;
Vo) if(PINA.2==1) sen=sen|0b0000000000010000000000;
o if(PINA.1==1) sen=sen|0b0000000000001000000000;
N- if(PINA.0==1) sen=sen|0b0000000000000100000000;
2 if(PINB.7==1) sen=sen | 0b0000000000000010000000;
g if(PINB.6==1) sen=sen | 0b0000000000000001000000;
‘:’; if(PINB.5==1) sen=sen | 0b0000000000000000100000;
24, if(PINB.4==1) sen=sen | 0b0000000000000000010000;
if(PINB.3==1) sen=sen |0b0000000000000000001000;
if(PINB.0==1) sen=sen | 0b0000000000000000000100;
if(PINB.1==1) sen=sen | 0b0000000000000000000010;
if(PINB.2==1) sen=sen | 0b0000000000000000000001;
D

switch(sen} (

// BLACK LINE IN WHITE Background
Gdie s 9 dihu (§ dize) 5O deliy

Lbgeaen e

L) ol yasie

36 S 36 36 S S B S B S0 N S B BN SN e MR M%)/ direct VIOV @M @INT// s 8 s s s s s s s s s st s s s s s s s s 3 3 3 o3 s e e e s e e s

17 d

case 0b0000000000000000000000:

X
X
X
X
X
X
X




Na 2//

24,

3/

4/

57/

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
break;

d

case 0b1111111111111111111111:

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
break;

d

case 0b0000000000110000000000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
break;

d

case 0b0000000001111000000000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
break;

d

case 0b0000000001110000000000:

PORTD.6=1;




OCR1AL=0;
() PORTD.3=1;
N OCR1BL=0;

D) break;
e 6/ d

S case 0b0000000000111000000000:
Q= PORTD.6=1;

O OCR1AL=0;

o PORTD.3=1;

Mo OCR1BL=0;

29 break;

~Ja 7/ d
case 0b0000000011111100000000:

PORTD.6=1;

NZa

el

NZa

2]

NZa

el

Nga

(4 OCR1AL=0;

NZa

2]

~Za PORTD.3=1;

2]

NZa

ST OCR1BL=0;
break;

8/ d
case 0b0000000011111000000000:

PORTD.6=1;
OCR1AL=0;

PORTD.3=1;

break;

9/ d
case 0b0000000001111100000000:

PORTD.6=1;

OCR1AL=0;

X
X
X
X
X
X
X




2

PORTD.3=1;
OCR1BL=0;
break;

10/ d

case 0b0000000111111110000000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
break;

11/ d

case 0b0000000111111100000000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
break;

12/ d

case 0b0000000011111110000000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
break;

13, d

case 0b0000001111111111000000:

PORTD.6=1;
OCR1AL=0;

PORTD.3=1;




OCR1BL=0;

() break;

R 14/ d
2R case 0b0000001111111110000000:

NG PORTD.6=1;
247 OCR1AL=0;
o PORTD.3=1;
Do OCR1BL=0;
o break;

N 15/ d
A case 0b0000000111111111000000:

o PORTD.6=1;
OCR1AL=0;
PORTD.3=1;

NZa

Y

QO

ReZ™)

NZa

oY

QO

t:;? OCR1BL=0;
Y

A break;
ReZe)

NZa

I

2, 16// d
case 0b0000011111111111100000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
break;

% 17/ d
% case 0b0000011111111111000000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;

OCR1BL=0;




break;

(4 18, d

s 770 case 0b0000001111111111100000:

oD PORTD.6=1;
NG OCR1AL=0;
247 PORTD.3=1;
o OCR1BL=0;
o /<) break;

o 19/ d
kg, case 0b0000111111111111110000:
N PORTD.6=1;
leg, OCR1AL=0;
PORTD.3=1;
OCR1BL=0;

A

boss,

Q2

3w,

QA

boss,

Q2

‘:;? break;
boss,

A 20/ d
boss,

QA

[2£~)

2~ case 0b0000111111111111100000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
break;

21/ d

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;

break;

% case 0b0000011111111111110000:




Do 22/ d

Qa case 0b0001111111111111111000:

() PORTD.6=1;
O OCR1AL=0;
Do PORTD.3=1;
247 OCR1BL=0;
Nga break;

(24™) 23, d
N case 0b0001111111111111110000:

oX PORTD.6=1;
N OCR1AL=0;
O PORTD.3=1;

OCR1BL=0;

break;

R
o]

N7

39

A

39

Q2

24 )

“Q 24/, d
39

‘:;; case 0b0000111111111111111000:
R

[2£~)

> PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
break;

25/ d

% case 0b0011111111111111111100:
% PORTD.6=1;
OCR1AL=0;
% PORTD.3=1;
% OCR1BL=0;

break;




case 0b0111111111111111111110:

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;

break;

2R 27/ d

24,

case 0b0000000010110100000000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;

break;

28/ d

case 0b0000000110110110000000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;

break;

29/, d

case 0b0000000100110010000000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;

break;

30/ d

case 0b0000000110110100000000:




24,

PORTD.6=1;
OCRI1AL=0;
PORTD.3=1;
OCR1BL=0;

break;

31/ d

case 0b0000000010110110000000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;

break;

32/ d

case 0b0000001100110011000000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;

break;

33/ d

case 0b0000001000110001000000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;

break;

34, d

case 0b0000001100110010000000:

PORTD.6=1;




2

OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
break;

35/ d

case 0b0000000100110011000000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
break;

36/ d

case 0b0000011000110001100000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
break;

37/ d

case 0b0000010000110000100000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
break;

38/ d

case 0b0000011000110001000000:

PORTD.6=1;

OCR1AL=0;




2

PORTD.3=1;
OCR1BL=0;
break;

39/ d

case 0b0000001000110001100000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
break;

40/ d

case 0b0000110000110000110000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
break;

41, d

case 0b0000100000110000010000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
break;

42,/ d

case 0b0000110000110000100000:

PORTD.6=1;
OCR1AL=0;

PORTD.3=1;




OCR1BL=0;

() break;

R 43, d
2R case 0b0000010000110000110000:

NG PORTD.6=1;
247 OCR1AL=0;
o PORTD.3=1;
Do OCR1BL=0;
o break;

N 44, d
A case 0b0001100000110000011000:

o PORTD.6=1;
OCR1AL=0;
PORTD.3=1;

NZa

Y

QO

ReZ™)

NZa

oY

QO

t:;? OCR1BL=0;
Y

A break;
ReZe)

NZa

I

2, 45// d
case 0b0001000000110000001000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
break;

% 46,/ d
% case 0b0001100000110000010000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;

OCR1BL=0;




break;

(4 47, d

s 770 case 0b0000100000110000011000:

oD PORTD.6=1;
NG OCR1AL=0;
247 PORTD.3=1;
o OCR1BL=0;
o /<) break;

o 48, d
kg, case 0b0010000000110000000100:
N PORTD.6=1;
leg, OCR1AL=0;
PORTD.3=1;
OCR1BL=0;

A

boss,

Q2

3w,

QA

boss,

Q2

‘:;? break;
boss,

A 49/, d
boss,

QA

[2£~)

2~ case 0b0100000000110000000010:

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
break;

50/ d

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;

break;

% case 0b1000000000110000000001:




Do 51/ d

A case 0b0000001110110110000000:

() PORTD.6=1;
O OCR1AL=0;
Do PORTD.3=1;
247 OCR1BL=0;
Nga break;

29 52/ d
N case 0b0000000110110111000000:

oX PORTD.6=1;
N OCR1AL=0;
O PORTD.3=1;

OCR1BL=0;

break;

o
X

QA

o]

"o

(2£~)

N7

24 )

“Q 53, d
o,

‘:;; case 0b0000011100110011000000:
"o

[2£~)

> PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
break;

54/ d

% case 0b0000001100110011100000:
% PORTD.6=1;
OCR1AL=0;
% PORTD.3=1;
% OCR1BL=0;

break;




case 0b0000111000110001100000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;

break;

2R 56/ d

24,

case 0b0000011000110001110000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;

break;

57/ d

case 0b0001110000110000110000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;

break;

58/ d

case 0b0000110000110000111000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;

break ;




3 SIE 6 A6 36 e e e e e e e e N
Do 177 L
247 case 0b0000000001000000000000:

xa PORTD.6=1;
24, OCR1AL=0;

Qa PORTD.3=0;
o 2% OCR1BL=0;

o break ;

e 2/ L
A case 0b0000000011000000000000:

2Z~) PORTD.6=1;
OCR1AL=0;
PORTD.3=0;
OCR1BL=0;
break;

37 L

24,

case 0b0000000010000000000000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=0;
OCR1BL=0;
break;

% 4, L
% case 0b0000000110000000000000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=0;

OCR1BL=0;




s 770 case 0b0000000100000000000000:

oD PORTD.6=1;
NG OCR1AL=0;
247 PORTD.3=0;
o OCR1BL=0;
o /<) break;

o 6/ L
oY case 0b0000001100000000000000:
N PORTD.6=1;
leg, OCR1AL=0;
PORTD.3=0;
OCR1BL=0;

A

boss,

Q2

[2£~)

QA

(2£~)

N7

‘:;? break;
([2£~)

A 7/ L
boss,

QA

[2£~)

2~ case 0b0000001000000000000000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=0;
OCR1BL=0;
break;

817 L

PORTD.6=1;
OCR1AL=0;
PORTD.3=0;
OCR1BL=0;

break;

% case 0b0000011000000000000000:




Qo case 0b0000010000000000000000:

() PORTD.6=1;
O OCR1AL=0;
Do PORTD.3=0;
247 OCR1BL=0;
Nga break;

29 10/ L
N case 0b0000110000000000000000:

oX PORTD.6=1;
N OCR1AL=0;
O PORTD.3=0;

OCR1BL=0;

break;

o

g

oA

o 7o)

O

g

~oa

24 )

“Q 11/ L
o o

clf; case 0b0000100000000000000000:
O

oo

> PORTD.6=1;
OCR1AL=0;
PORTD.3=0;
OCR1BL=0;
break;

12/ L

% case 0b0001100000000000000000:
% PORTD.6=1;
OCR1AL=0;
% PORTD.3=0;
% OCR1BL=0;

break;




case 0b0001000000000000000000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=0;
OCR1BL=0;

break;

2R 14, L

24,

case 0b0010000000000000000000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=0;
OCR1BL=0;

break;

15/ L

case 0b0100000000000000000000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=0;
OCR1BL=0;

break;

16/ L

case Ob1000000000000000000000:

PORTD.6=1;
OCR1AL=0;
PORTD.3=0;
OCR1BL=0;

break ;




‘:’; o s st sl sl // RIGHT MOVEMENT s

N case 0b0000000000001000000000:

X PORTD.6=0;
N OCR1AL=0;
5] PORTD.3=1;
oX OCR1BL=0;
NZa break;

(2L~ 211 r
case 0b0000000000001100000000:

PORTD.6=0;
OCR1AL=0;
PORTD.3=1,
24,

OCR1BL=0;

break ;

31 r
case 0b0000000000000100000000:

§ PORTD.6=0;
% OCR1AL=0;
% PORTD.3=1;
% OCR1BL=0;
% break ;

4, r
case 0b0000000000000110000000:

PORTD.6=0;




OCR1AL=0;
() PORTD.3=1;
N OCR1BL=0;

D) break ;
2R 5/ r

S case 0b0000000000000010000000:
Q= PORTD.6=0;

O OCR1AL=0;

o PORTD.3=1;

Mo OCR1BL=0;

29 break ;

N 6/ r
case 0b0000000000000011000000:

PORTD.6=0;

NZa

el

NZa

2]

NZa

el

Nga

(4 OCR1AL=0;

NZa

2]

~Za PORTD.3=1;

2]

NZa

ST OCR1BL=0;
break ;

711 r
case 0b0000000000000001000000:

PORTD.6=0;
OCR1AL=0;

PORTD.3=1;

break ;

8/ r
case 0b0000000000000001100000:

PORTD.6=0;

OCR1AL=0;

X
X
X
X
X
X
X




2

PORTD.3=1;
OCR1BL=0;
break ;

9/ r

case 0b0000000000000000100000:

PORTD.6=0;
OCR1AL=0;

PORTD.3=1;
OCR1BL=0;

break ;

10/ r

case 0b0000000000000000110000:

PORTD.6=0;
OCR1AL=0;

PORTD.3=1;
OCR1BL=0;

break ;

11 r

case 0b0000000000000000010000:

PORTD.6=0;
OCR1AL=0;

PORTD.3=1;
OCR1BL=0;

break ;

12/ r

case 0b0000000000000000011000:

PORTD.6=0;
OCR1AL=0;

PORTD.3=1;




OCR1BL=0;

() break ;

R 13/ r
2R case 0b0000000000000000001000:

NG PORTD.6=0;
247 OCR1AL=0;
o PORTD.3=1;
Do OCR1BL=0;
o break ;

N 14/, r
o case 0b0000000000000000000100:

o PORTD.6=0;
OCR1AL=0;
PORTD.3=1;

NZa

Y

QO

ReZ™)

NZa

oY

QO

t:;? OCR1BL=0;
Y

A break ;
ReZe)

NZa

I

2, 15// r
case 0b0000000000000000000010:

PORTD.6=0;
OCR1AL=0;

PORTD.3=1;
OCR1BL=0;

break ;

% 16/ r
% case 0b0000000000000000000001 :

PORTD.6=0;
OCR1AL=0;
PORTD.3=1;

OCR1BL=0;




Qa IF Structure :

25~ #include <mega32.h>
R #include <stdio.h>
Q) #include <delay.h>
o void main(void)
N {

PORTA=0x00;

DDRA=0x00;

DDRB=0x00;

QA

39

QA

oY

QA

39

‘)j; PORTB=0x00;
QA

39

~ga

be 3]

o PORTC=0x00;
he 5]

24,

DDRC=0x00;
PORTD=0x00;
DDRD=0xF8;
TCCRO=0x00;
TCNTO0=0x00;
OCRO=0x00;

// Timer/Counter 1 initialization

// Clock value: 125.000 kHz

// Mode: Fast PWM top=0x00FF
// OC1A output: Non-Inv.

// OC1B output: Non-Inv.

// Noise Canceler: Off

X
X
X
% // Clock source: System Clock
X
X
X
X




TCCR1A=0xA1;
(24 TCCR1B=0x0B;
A TCNT1H=0x00;
Do 700 TCNT1L=0x00;
2R ICR1H=0x00;
N ICR1L=0x00;
2/ OCR1AH=0x00;
o OCR1AL=0x00;
N- OCR1BH=0x00;

29 OCR1BL=0x00;

xa // LED STARTING FLAG 555w (b s 31 3] (5lys Calis (5 4Bl s 5335 51 US 3 8l Il 54k 5bs)
247 PORTD.7=1;

delay_ms(100);

PORTD.7=0;
while (1)
{ s bt 9 b § dige) )3 daby
A d b it gla Sl

LL e O, Sl
RU Cwly dy g >
L) ol yasive
// PORTD.3 & OCR1B LINKED TO LEFT MOTOR
// PORTD.6 & OCR1A LINKED TO RIGHT MOTOR

// BLACK LINE IN WHITE Background

// 1D

if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&8& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

% //****************************direct Movement ***********************************//




PORTD.6=1;
(24 OCR1AL=0;
ga PORTD.3=1;
Do OCR1BL=0;
X }

Q= // 2D

(4~ else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
‘:’; PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==1
N && PINB.3==1 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 && PINB.2==1)

2 {
on PORTD.6=1;
N= OCR1AL=0;
243~ PORTD.3=1;
OCR1BL=0;
}

//3d

else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

PORTD.6=1;

24,

OCR1AL=0;

PORTD.3=1;

OCR1BL=0;
}
//4d

% else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&

PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=1;
OCR1AL=0;

PORTD.3=1;




OCR1BL=0;
@2~) }

Do %) else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
N- PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
SCA && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

2] {

947

oX PORTD.6=1;
N OCR1AL=0;
N2 %] PORTD.3=1;
o OCR1BL=0;
Do }

([2£~) //6d

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=1;
OCR1AL=0;
24,

PORTD.3=1;
OCR1BL=0;
}

//7d

else if (PINA.5==1 && PINA.2==0 && PIND.1==1 && PINA.1==1 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

§

§

§

% ;
%

%

%

OCR1AL=0;
PORTD.3=1;

OCR1BL=0;




else if (PINA.5==0 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
Na PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
NJa && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

N (
2R PORTD.6=1;
s OCR1AL=0;
o PORTD.3=1;
oX OCR1BL=0;
& }

2 //9d

~ g else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
2 PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
(74 && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

Qa {
PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
}

//10d

24,

else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==1 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=1;

OCR1AL=0;

PORTD.3=1;

-
-
S
% ;
.
.
-

}
//11d

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&8& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )




PORTD.6=1;
(24 OCR1AL=0;
ga PORTD.3=1;
Do OCR1BL=0;
X }

Q= //12d

(4~ else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==0 && PINC.7==0 &&
‘:’; PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
N &8& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

2 {
on PORTD.6=1;
N= OCR1AL=0;
243~ PORTD.3=1;
OCR1BL=0;
}

//13d

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==0 && PINA.0==1 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

PORTD.6=1;

24,

OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
}

//14d

PINB.7==1 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=1;
OCR1AL=0;

PORTD.3=1;

% else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0O==1 && PINA.0==1 && PINC.7==1 &&




OCR1BL=0;
39 }

Do %) else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
N- PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
SCA && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

2] {

947

oX PORTD.6=1;
N OCR1AL=0;
N2 %] PORTD.3=1;
o OCR1BL=0;
Do }

(g //16d

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==0 &&
PINB.7==1 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=1;
OCR1AL=0;
24,

PORTD.3=1;
OCR1BL=0;
}

//17d

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

§

§

§

% ;
%

%

%

OCR1AL=0;
PORTD.3=1;

OCR1BL=0;




else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
Na PINB.7==1 && PINC.6==1 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
NJa && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

N (
2R PORTD.6=1;
s OCR1AL=0;
o PORTD.3=1;
oX OCR1BL=0;
& }

2 //19d

~ g else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
2 PINB.7==1 && PINC.6==0 && PINB.6==1 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
(74 && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

Qa {
PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
}

//20d

24,

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=1;

OCR1AL=0;

PORTD.3=1;

-
-
S
% ;
.
.
-

}
//21d

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&8& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )




PORTD.6=1;
(24 OCR1AL=0;
ga PORTD.3=1;
Do OCR1BL=0;
X }

Q= //22d

(4~ else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
‘:’; PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==0 && PINB.5==1 && PINC.4==0 && PINB.4==0 && PINC.3==0
N &8& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

2 {
on PORTD.6=1;
N= OCR1AL=0;
243~ PORTD.3=1;
OCR1BL=0;
}

//23d

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

PORTD.6=1;

24,

OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
}

//24d

PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=1;
OCR1AL=0;

PORTD.3=1;

% else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0O==1 && PINA.0==1 && PINC.7==1 &&




OCR1BL=0;
39 }

Do %) else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
N- PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==0 && PINB.4==1 && PINC.3==0
SCA && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

2] {

947

oX PORTD.6=1;
N OCR1AL=0;
N2 %] PORTD.3=1;
o OCR1BL=0;
Do }

(g //26d

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==1
&& PINB.3==1 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=1;
OCR1AL=0;
24,

PORTD.3=1;
OCR1BL=0;
}

//27d

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==1
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

§

§

§

% ;
%

%

%

OCR1AL=0;
PORTD.3=1;

OCR1BL=0;




else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
Na PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==0
NJa && PINB.3==1 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

N (
2R PORTD.6=1;
s OCR1AL=0;
o PORTD.3=1;
oX OCR1BL=0;
& }

2 //29d

~ g else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
2 PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==1
(74 && PINB.3==1 && PINC.2==1 && PINB.0==1 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

Qa {
PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;

t
//30d

24,

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==1
&& PINB.3==1 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==0 )

{
PORTD.6=1;

OCR1AL=0;

PORTD.3=1;

-
-
S
% ;
.
.
-

}
//31d 4way

else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==1 && PINA.0==1 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&8& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )




PORTD.6=1;
(24 OCR1AL=0;
ga PORTD.3=1;
Do OCR1BL=0;
X }

A //32d 4way

(4~ else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==1 && PINA.0==1 && PINC.7==0 &&
‘:’; PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
N &8& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

29 {
oD PORTD.6=1;
N= OCR1AL=0;
243~ PORTD.3=1;
OCR1BL=0;
}

//33d 4way

else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==1 && PINA.0==1 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

PORTD.6=1;

24,

OCR1AL=0;

PORTD.3=1;
OCR1BL=0;

}

//34d 4way

PINB.7==1 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=1;
OCR1AL=0;

PORTD.3=1;

% else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&




OCR1BL=0;
24~) }
~Ja //35d 4way

Do %) else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
N- PINB.7==1 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
SCA && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

2] {

947

oX PORTD.6=1;
N OCR1AL=0;
Y PORTD.3=1;
o N OCR1BL=0;
& }

(8 //36d 4way

else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
PINB.7==1 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=1;
OCR1AL=0;
24,

PORTD.3=1;
OCR1BL=0;
}

//37d 4way

else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==1 &&
PINB.7==1 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

§

§

§

% ;
%

%

%

OCR1AL=0;

PORTD.3=1;
OCR1BL=0;

}

//38d 4way




else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==1 &&
Na PINB.7==1 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
NJa && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

NZa {
125~ PORTD.6=1;
Q OCR1AL=0;
Do PORTD.3=1;
oX OCR1BL=0;
& }

Y //39d 4way

~ g else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==1 &&
2 PINB.7==1 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
(74 && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

Qa {
PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
}

//40d 4way

24,

else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=1;

OCR1AL=0;

PORTD.3=1;

-
-
S
% ;
.
.
-

}
//41d 4way

else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&8& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )




PORTD.6=1;
(24 OCR1AL=0;
ga PORTD.3=1;
Do OCR1BL=0;
X }

A //42d 4way

(4~ else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
‘:’; PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
N && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

(4 {

o PORTD.6=1;
N= OCR1AL=0;
243~ PORTD.3=1;
OCR1BL=0;
}

//43d 4way

else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==1 && PINA.0==1 && PINC.7==0 &&
PINB.7==1 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

PORTD.6=1;

24,

OCR1AL=0;

PORTD.3=1;
OCR1BL=0;

}

//44d 4way

PINB.7==1 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=1;
OCR1AL=0;

PORTD.3=1;

% else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==1 && PINA.0==1 && PINC.7==0 &&




OCR1BL=0;
24~) }
~Ja //45d 4way

Do %) else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==1 && PINA.0==1 && PINC.7==0 &&
N- PINB.7==1 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
SCA && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

2] {

947

oX PORTD.6=1;
N OCR1AL=0;
Y PORTD.3=1;
o N OCR1BL=0;
& }

(8 //46d dway

else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==1 &&
PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=1;
OCR1AL=0;
24,

PORTD.3=1;
OCR1BL=0;
}

//47d 4way

else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==1 &&
PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

§

§

§

% ;
%

%

%

OCR1AL=0;
PORTD.3=1;
OCR1BL=0;

}




//48 d 4way

247 else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==1 &&
29 PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
‘:;; && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

ax {

Q PORTD.6=1;
Mo OCR1AL=0;
oX PORTD.3=1;
N OCR1BL=0;
29 }

g //49d 4way

N= else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
NZa PINB.7==0 && PINC.6==1 && PINB.6==1 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
N7 && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
}

//50d 4way

24,

else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==1 && PINB.6==1 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

PORTD.6=1;

OCR1AL=0;

§
§
§
% ;
%
%
%

OCR1BL=0;
}
//51d 4way

else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==1 && PINB.6==1 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )




(24 PORTD.6=1;
o OCR1AL=0;
NG PORTD.3=1;
2R OCR1BL=0;
Nga }

2] //52d 4way

‘:;? else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==1 &&
25~ PINB.7==1 && PINC.6==1 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
29 && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

Qa {

NE PORTD.6=1;
257 OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
}

//53 4way

else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==1 &&
No PINB.7==1 && PINC.6==1 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=1;
OCR1AL=0;

PORTD.3=1;

OCR1BL=0;

}

X
X
X
% //54d 4way
X
X
X
X

else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==1 &&
PINB.7==1 && PINC.6==1 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&8& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=1;

OCR1AL=0;




PORTD.3=1;
(24 OCR1BL=0;
Qa }

3O //55d 4way

2R else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==1 &&
29 PINB.7==1 && PINC.6==0 && PINB.6==1 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
o/~ && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

oX {

N PORTD.6=1;
o OCR1AL=0;
o PORTD.3=1;
NE OCR1BL=0;
2R }

//56d 4way

else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==1 &&
PINB.7==1 && PINC.6==0 && PINB.6==1 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

PORTD.6=1;
24,

OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
}

//57d 4way

else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==1 &&
PINB.7==1 && PINC.6==0 && PINB.6==1 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

§
§
§
.
%
%
%
%

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;

OCR1BL=0;




//58d 4way

247 else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
29 PINB.7==0 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==0 && PINB.4==0 && PINC.3==0
‘:;; && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

ax {

Q PORTD.6=1;
Mo OCR1AL=0;

oX PORTD.3=1;
N OCR1BL=0;

29 }

~ g //59d dway

N= else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
NZa PINB.7==0 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==0 && PINB.4==0 && PINC.3==0
N7 && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
}

//60d 4way

24,

else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

PORTD.6=1;

OCR1AL=0;

§
§
§
% ;
%
%
%

OCR1BL=0;
}
//61d 4way

else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==1 && PINB.5==1 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )




(24 PORTD.6=1;
o OCR1AL=0;

N PORTD.3=1;
2R OCR1BL=0;

~ga }

O //62d 4way

‘:;? else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
25~ PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==1 && PINB.5==1 && PINC.4==0 && PINB.4==0 && PINC.3==0
29 && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

Qa {

NE PORTD.6=1;
257 OCR1AL=0;

PORTD.3=1;
OCR1BL=0;

}

//63d 4way

else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
No PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==1 && PINB.5==1 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=1;
OCR1AL=0;

PORTD.3=1;

OCR1BL=0;

}

X
X
X
% //64d 4way
X
X
X
X

else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&8& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=1;

OCR1AL=0;




PORTD.3=1;
(24 OCR1BL=0;
Qa }

3O //65d 4way

2R else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
29 PINB.7==0 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
o/~ && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

oX {

N PORTD.6=1;
o OCR1AL=0;
o PORTD.3=1;
NE OCR1BL=0;
2R }

//66d 4way

else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

PORTD.6=1;
24,

OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
}

//67d 4way

else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==1 && PINB.6==1 && PINC.5==0 && PINB.5==1 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

§
§
§
.
%
%
%
%

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;

OCR1BL=0;




//68d 4way

247 else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
29 PINB.7==0 && PINC.6==1 && PINB.6==1 && PINC.5==0 && PINB.5==1 && PINC.4==0 && PINB.4==0 && PINC.3==0
‘:;; && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

ax {

Q PORTD.6=1;
Mo OCR1AL=0;

oX PORTD.3=1;
N OCR1BL=0;

29 }

~ g //69d dway

N= else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
NZa PINB.7==0 && PINC.6==1 && PINB.6==1 && PINC.5==0 && PINB.5==1 && PINC.4==0 && PINB.4==0 && PINC.3==0
N7 && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
}

//70d 4way

24,

else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

PORTD.6=1;

OCR1AL=0;

§
§
§
% ;
%
%
%

OCR1BL=0;
}
//71d 4way

else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )




(24 PORTD.6=1;
o OCR1AL=0;

N PORTD.3=1;
2R OCR1BL=0;

~ga }

O //72d 4way

‘:;? else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
25~ PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==0
29 && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

Qa {

NE PORTD.6=1;
257 OCR1AL=0;

PORTD.3=1;
OCR1BL=0;

}

//73d 4way

else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
No PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==1 && PINB.4==1 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=1;
OCR1AL=0;

PORTD.3=1;

OCR1BL=0;

}

X
X
X
% /174d 4way
X
X
X
X

else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==1 && PINB.4==1 && PINC.3==0
&8& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=1;

OCR1AL=0;




PORTD.3=1;
(24 OCR1BL=0;
Qa }

N //75d 4way

2R else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
29 PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==1 && PINB.4==1 && PINC.3==0
o/~ && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

oX {

N PORTD.6=1;
o OCR1AL=0;
o PORTD.3=1;
NE OCR1BL=0;
2R }

//76d 4way

else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

PORTD.6=1;
24,

OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
}

//77d 4way

else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

§
§
§
.
%
%
%
%

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;

OCR1BL=0;




//78d 4way

247 else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
29 PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==0 && PINC.3==0
‘:;; && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

ax {

Q PORTD.6=1;
Mo OCR1AL=0;

oX PORTD.3=1;
N OCR1BL=0;

29 }

~ g //79d dway

N= else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
NZa PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==1 && PINB.5==1 && PINC.4==0 && PINB.4==1 && PINC.3==0
N7 && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
}

//80d 4way

24,

else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==1 && PINB.5==1 && PINC.4==0 && PINB.4==1 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

PORTD.6=1;

OCR1AL=0;

§
§
§
% ;
%
%
%

OCR1BL=0;
}
//81d 4way

else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==1 && PINB.5==1 && PINC.4==0 && PINB.4==1 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )




(24 PORTD.6=1;
o OCR1AL=0;

N PORTD.3=1;
2R OCR1BL=0;

~ga }

O //82d 4way

‘:;? else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
25~ PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==1 && PINB.4==1 && PINC.3==1
29 && PINB.3==1 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

Qa {

NE PORTD.6=1;
257 OCR1AL=0;

PORTD.3=1;
OCR1BL=0;

}

//83d 4way

else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
No PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==1 && PINB.4==1 && PINC.3==1
&& PINB.3==1 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=1;
OCR1AL=0;

PORTD.3=1;

OCR1BL=0;

}

X
X
X
% //84d 4way
X
X
X
X

else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==1 && PINB.4==1 && PINC.3==1
&& PINB.3==1 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=1;

OCR1AL=0;




PORTD.3=1;
(24 OCR1BL=0;
Qa }

3O //85d 4way

2R else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
29 PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==1
o/~ && PINB.3==1 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

oX {

N PORTD.6=1;
o OCR1AL=0;
o PORTD.3=1;
NE OCR1BL=0;
2R }

//86d 4way

else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==1
&& PINB.3==1 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

PORTD.6=1;
24,

OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
}

//87d 4way

else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==1
&& PINB.3==1 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

§
§
§
.
%
%
%
%

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;

OCR1BL=0;




//88d 4way

247 else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
29 PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==1 && PINB.4==1 && PINC.3==1
‘:;; && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

ax {

Q PORTD.6=1;
Mo OCR1AL=0;

oX PORTD.3=1;
N OCR1BL=0;

29 }

~ g //89d dway

N= else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
NZa PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==1 && PINB.4==1 && PINC.3==1
N7 && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
}

//90d 4way

24,

else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==1 && PINB.4==1 && PINC.3==1
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

PORTD.6=1;

OCR1AL=0;

§
§
§
% ;
%
%
%

OCR1BL=0;
}
//91d 4way

else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==1 && PINB.4==1 && PINC.3==0
&& PINB.3==1 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )




(24 PORTD.6=1;
o OCR1AL=0;

N PORTD.3=1;
2R OCR1BL=0;

~ga }

O //92d 4way

‘:;? else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
25~ PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==1 && PINB.4==1 && PINC.3==0
29 && PINB.3==1 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

Qa {

NE PORTD.6=1;
257 OCR1AL=0;

PORTD.3=1;
OCR1BL=0;

}

//93d 4way

else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
No PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==1 && PINB.4==1 && PINC.3==0
&& PINB.3==1 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=1;
OCR1AL=0;

PORTD.3=1;

OCR1BL=0;

}

X
X
X
% /194d 4way
X
X
X
X

else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&8& PINB.3==0 && PINC.2==1 && PINB.0==1 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=1;

OCR1AL=0;




PORTD.3=1;
(24 OCR1BL=0;
Qa }

N //95d 4way

2R else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
29 PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
o/~ && PINB.3==0 && PINC.2==1 && PINB.0==1 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

oX {

N PORTD.6=1;
o OCR1AL=0;
o PORTD.3=1;
NE OCR1BL=0;
2R }

//96d 4way

else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==1 && PINB.0O==1 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

PORTD.6=1;
24,

OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
}

//97d 4way

else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==1 && PINB.1==1 && PINC.0==0 )

§
§
§
.
%
%
%
%

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;

OCR1BL=0;




//98d 4way

247 else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
29 PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
‘:;; && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==1 && PINB.1==1 && PINC.0==0 )

ax {

Q PORTD.6=1;
Mo OCR1AL=0;

oX PORTD.3=1;
N OCR1BL=0;

29 }

~ g //99d dway

N= else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
NZa PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
N7 && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==1 && PINB.1==1 && PINC.0==0 )

{
PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;

}

//100d 4way

24,

else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==1 && PINB.2==1)

{

PORTD.6=1;

OCR1AL=0;

§
§
§
% ;
%
%
%

OCR1BL=0;
}
//101d 4way

else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==1 && PINB.2==1)




(24 PORTD.6=1;
o OCR1AL=0;
NG PORTD.3=1;
2R OCR1BL=0;
Nga }

24 //102 4way

‘:;? else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
25~ PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
29 && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==1 && PINB.2==1)

Qa {

NE PORTD.6=1;
257 OCR1AL=0;
PORTD.3=1;
OCR1BL=0;

}

//103d 4way

else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
No PINB.7==1 && PINC.6==1 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=1;
OCR1AL=0;

PORTD.3=1;

OCR1BL=0;

}

X
X
X
% //104d 4way
X
X
X
X

else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
PINB.7==1 && PINC.6==1 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&8& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=1;

OCR1AL=0;




PORTD.3=1;
(24 OCR1BL=0;
Qa }

Do %) //105d 4way

2R else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
29 PINB.7==1 && PINC.6==1 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
o/~ && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

oX {

N PORTD.6=1;
o OCR1AL=0;
o PORTD.3=1;
N= OCR1BL=0;
2R }

//106 4way

else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
PINB.7==1 && PINC.6==0 && PINB.6==1 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

PORTD.6=1;
24,

OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
}

//107d 4way

else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
PINB.7==1 && PINC.6==0 && PINB.6==1 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

§
§
§
.
%
%
%
%

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;

OCR1BL=0;




//108d 4way

247 else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
29 PINB.7==1 && PINC.6==0 && PINB.6==1 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
‘:;; && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

ax {

Q PORTD.6=1;
Mo OCR1AL=0;
oX PORTD.3=1;
N OCR1BL=0;
29 }

g //109d 4way

N= else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==1 &&
NZa PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
N7 && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;

}

//110d 4way

24,

else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==1 &&
PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

PORTD.6=1;

OCR1AL=0;

§
§
§
% ;
%
%
%

OCR1BL=0;
}
//111d 4way

else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==1 &&
PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )




(24 PORTD.6=1;
o OCR1AL=0;
N PORTD.3=1;
2R OCR1BL=0;
~ga }

O //112d 4way

‘:;? else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==1 &&
25~ PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==0 && PINB.5==1 && PINC.4==0 && PINB.4==0 && PINC.3==0
29 && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

Qa {

NE PORTD.6=1;
257 OCR1AL=0;
PORTD.3=1;
OCR1BL=0;

}

//113d 4way

else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==1 &&
No PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==0 && PINB.5==1 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=1;
OCR1AL=0;

PORTD.3=1;

OCR1BL=0;

}

X
X
X
% //114d 4way
X
X
X
X

else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==1 &&
PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==0 && PINB.5==1 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=1;

OCR1AL=0;




PORTD.3=1;
(24 OCR1BL=0;
Qa }

Do %) //115d 4way

2R else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
29 PINB.7==0 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==0 && PINC.3==0
o/~ && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

oX {

N PORTD.6=1;
o OCR1AL=0;
o PORTD.3=1;
NE OCR1BL=0;
2R }

//116d 4way

else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

PORTD.6=1;
24,

OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
}

//117d 4way

else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

§
§
§
.
%
%
%
%

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;

OCR1BL=0;




//118 4way

247 else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
29 PINB.7==0 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==0 && PINB.4==1 && PINC.3==0
‘:;; && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

ax {

Q PORTD.6=1;
Mo OCR1AL=0;
oX PORTD.3=1;
N OCR1BL=0;
29 }

g //119d 4way

N= else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
NZa PINB.7==0 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==0 && PINB.4==1 && PINC.3==0
N7 && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

PORTD.6=1;
OCR1AL=0;
PORTD.3=1;
OCR1BL=0;
}

//120 4way

24,

else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==0 && PINB.4==1 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

PORTD.6=1;

OCR1AL=0;

§
§
§
% ;
%
%
%

OCR1BL=0;
}
//121d 4way

else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==1
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )




(24 PORTD.6=1;
o OCR1AL=0;
N PORTD.3=1;
2R OCR1BL=0;
~ga }

O //122d 4way

‘:;? else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
25~ PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==1
29 && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

Qa {

NE PORTD.6=1;
257 OCR1AL=0;
PORTD.3=1;
OCR1BL=0;

}

//123d 4way

else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
No PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==1
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=1;
OCR1AL=0;

PORTD.3=1;

OCR1BL=0;

}

X
X
X
% //124d 4way
X
X
X
X

else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==0
&& PINB.3==1 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=1;

OCR1AL=0;




PORTD.3=1;
(24 OCR1BL=0;
Qa }

3O //125d 4way

2R else if (PINA.5==1 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
29 PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==0
o/~ && PINB.3==1 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

oX {

N PORTD.6=1;
o OCR1AL=0;
o PORTD.3=1;
NE OCR1BL=0;
2R }

//126d 4way

else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==0
&& PINB.3==1 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

PORTD.6=1;
24,

OCR1AL=0;
PORTD.3=1;
OCR1BL=0;

}

/1L

else if (PINA.5==0 && PINA.2==0 && PIND.1==1 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&8& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )




PORTD.6=1;
(24 OCR1AL=0;
ga PORTD.3=0;
Do OCR1BL=0;
X }

Q= // 2L

(4~ else if (PINA.5==0 && PINA.2==0 && PIND.1==1 && PINA.1==0 && PIND.0==1 && PINA.0==0 && PINC.7==0 &&
‘:’; PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
N &8& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

2 {
on PORTD.6=1;
N= OCR1AL=0;
243~ PORTD.3=0;
OCR1BL=0;
}

//3L

else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==1 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

PORTD.6=1;

24,

OCR1AL=0;

PORTD.3=0;

OCR1BL=0;
}
//4L

% else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==1 && PINA.0==0 && PINC.7==1 &&

PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=1;
OCR1AL=0;

PORTD.3=0;




OCR1BL=0;
9 }
NZa //5L

Do %) else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==1 &&
N- PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
SCA && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

2] {

947

oX PORTD.6=1;
N OCR1AL=0;
N2 %] PORTD.3=0;
o OCR1BL=40;
& }

([2£~) // 6L

else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==1 &&
PINB.7==0 && PINC.6==1 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=1;
OCR1AL=0;
24,

PORTD.3=0;

OCR1BL=40;

}
/7L

else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==1 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

§

§

§

% ;
%

%

%

OCR1AL=0;
PORTD.3=0;

OCR1BL=40;




else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
Na PINB.7==0 && PINC.6==1 && PINB.6==0 && PINC.5==1 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
NJa && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

Nga {

24, PORTD.6=1;
QA OCR1AL=0;
N PORTD.3=0;
oX OCR1BL=40;
& }

oY // 9L

~ g else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
2 PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==1 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
(74 && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

~Ja { while (PINA.5==0){
PORTD.6=1;
OCR1AL=0;
PORTD.3=0;
OCR1BL=90; }

}

// 10L

24,

else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==1 && PINB.5==0 && PINC.4==1 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{ while (PINA.5==0){
PORTD.6=1;

OCR1AL=0;

PORTD.3=0;

§
§
§
% ;
%
%
%

}

//11L

else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==1 && PINB.4==0 && PINC.3==0
&8& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{ while (PINA.5==0){




PORTD.6=1;
(24 OCR1AL=0;
ga PORTD.3=0;
N OCR1BL=90; }
X }

Q= // 12L

(4~ else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
‘:;; PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==1 && PINB.4==0 && PINC.3==1
N && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

oY {  while (PINA.5==0){
o N PORTD.6=1;

N= OCR1AL=0;

(24 PORTD.3=0;
OCR1BL=90; }

}

// 13L

else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==1
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

Q2 { while (PINA.5==0){
PORTD.6=1;
OCR1AL=0;
PORTD.3=0;
OCR1BL=90; }

}

// 14L

PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==1 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{  while (PINA.5==0){
PORTD.6=1;
OCR1AL=0;

PORTD.3=0;

% else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&




OCR1BL=100; }
B9 }
NJa ////15L

‘:,/; // else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0
N- && PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 &&
SCA PINC.3==0 && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==1 && PINB.1==0 && PINC.0==0 )

e /I { //while (PINA.5==0){
oX //  PORTD.6=1;

N //  OCR1AL=0;

B /| PORTD.3=0;

o /| OCR1BL=100;// }

o 7

257 /l/]16L

// else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0
&& PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 &&
PINC.3==0 && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==1 )

// { //while (PINA.5==0){
// PORTD.6=1;
//  OCR1AL=0;
Q2 /| PORTD.3=0;
//  OCR1BL=100;// }
/3

//17L 90 DEGREE

else if (PINA.5==0 && PINA.2==0 && PIND.1==1 && PINA.1==0 && PIND.0==1 && PINA.0==0 && PINC.7==1 &&
PINB.7==0 && PINC.6==1 && PINB.6==0 && PINC.5==1 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{ while (PINA.5==0){

§
§
§
% ;
%
%
%

OCR1AL=0;
PORTD.3=0;
OCR1BL=100; }

}

// 18L 90 DEGREE




else if (PINA.5==0 && PINA.2==0 && PIND.1==1 && PINA.1==0 && PIND.0==1 && PINA.0==0 && PINC.7==1 &&
Na PINB.7==0 && PINC.6==1 && PINB.6==0 && PINC.5==1 && PINB.5==0 && PINC.4==1 && PINB.4==0 && PINC.3==0
NJa &8& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

xa { while (PINA.5==0){
257 PORTD.6=1;

QA OCR1AL=0;

NG PORTD.3=0;

oX OCR1BL=100; }
oA }

39 // 19L 90 DEGREE

~ g else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==1 && PINA.0==0 && PINC.7==1 &&
2 PINB.7==0 && PINC.6==1 && PINB.6==0 && PINC.5==1 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
(74 && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

~Ja { while (PINA.5==0){
PORTD.6=1;
OCR1AL=0;
PORTD.3=0;
OCR1BL=100; }

}

//20L 90 DEGREE

24,

else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==1 && PINA.0==0 && PINC.7==1 &&
PINB.7==0 && PINC.6==1 && PINB.6==0 && PINC.5==1 && PINB.5==0 && PINC.4==1 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{ while (PINA.5==0){
PORTD.6=1;

OCR1AL=0;

PORTD.3=0;

§
§

§

% ;
%

%

%

}

//21L 90 DEGREE

else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==1 &&
PINB.7==0 && PINC.6==1 && PINB.6==0 && PINC.5==1 && PINB.5==0 && PINC.4==1 && PINB.4==0 && PINC.3==0
&8& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{ while (PINA.5==0){




PORTD.6=1;
(24 OCR1AL=0;

ga PORTD.3=0;
N OCR1BL=100; }
X }

Q= // 22L

(4~ else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
‘:’; PINB.7==0 && PINC.6==1 && PINB.6==0 && PINC.5==1 && PINB.5==0 && PINC.4==1 && PINB.4==0 && PINC.3==1
N &8& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

oY { while (PINA.5==0){
o N PORTD.6=1;

N= OCR1AL=0;

(24 PORTD.3=0;
OCR1BL=150; }

}

// 23L

else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==1 && PINB.5==0 && PINC.4==1 && PINB.4==0 && PINC.3==1
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

Q2 { while (PINA.5==0){
PORTD.6=1;
OCR1AL=0;
PORTD.3=0;
OCR1BL=150; }

}

// 24L

PINB.7==0 && PINC.6==1 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==1 && PINB.4==0 && PINC.3==1
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{ while (PINA.5==0){
PORTD.6=1;
OCR1AL=0;

PORTD.3=0;

% else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==1 &&




OCR1BL=150; }
B9 }
~Ja // 25L LOOP

Do %) else if (PINA.5==1 && PINA.2==0 && PIND.1==1 && PINA.1==0 && PIND.0==1 && PINA.0==0 && PINC.7==1 &&
N- PINB.7==0 && PINC.6==1 && PINB.6==0 && PINC.5==1 && PINB.5==0 && PINC.4==1 && PINB.4==0 && PINC.3==1
SCA && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

2] {

947

oX PORTD.6=1;
N OCR1AL=0;

N2 %] PORTD.3=0;
o OCR1BL=180;
& }

(g // 26L LOOP

else if (PINA.5==0 && PINA.2==0 && PIND.1==1 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==1
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

PORTD.6=1;
OCR1AL=0;
24,

PORTD.3=0;
OCR1BL=180;
}

// 27L LOOP

else if (PINA.5==0 && PINA.2==0 && PIND.1==1 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==1 && PINB.4==0 && PINC.3==1
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

§

§

§

% ;
%

%

%

OCR1AL=0;
PORTD.3=0;
OCR1BL=180;

}
//28L LOOP




else if (PINA.5==0 && PINA.2==0 && PIND.1==1 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
Na PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==1 && PINB.5==0 && PINC.4==1 && PINB.4==0 && PINC.3==1
NJa && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

oa ‘
X PORTD.6=1;
Q2 OCRIAL=0;
X PORTD.3=0;
oX OCR1BL=180;
oA }

S //29L LOOP

~ g else if (PINA.5==1 && PINA.2==0 && PIND.1==1 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
2 PINB.7==0 && PINC.6==1 && PINB.6==0 && PINC.5==1 && PINB.5==0 && PINC.4==1 && PINB.4==0 && PINC.3==1
(74 && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

Qa {
PORTD.6=1;
OCR1AL=0;
PORTD.3=0;

OCR1BL=180;

}

24,

3k 3k 3k sk 3k 3k >k 3k ok 5k 3k 3k 3k 3k sk >k 3k 3k 3k 3k >k 5k 3k 3k 3k 3%k %k %k 3k >k %k %k %k %k k ok k

/] 1R

else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==1 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0

% &8& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=0;
OCR1AL=0;
PORTD.3=1;

OCR1BL=0;




24, // 2R

Qa else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==1 && PIND.0==0 && PINA.0==1 && PINC.7==0 &&
o PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
125~ && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

Do {

o PORTD.6=0;
oX OCRIAL=0;
S PORTD.3=1;
oY OCR1BL=0;
Qa }

Ne // 3R

24 else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==1 && PINC.7==0 &&
29 PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=0;
OCR1AL=0;
PORTD.3=1;
24,

OCR1BL=0;
}

/] 4R

else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==1 && PINC.7==0 &&
PINB.7==1 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

PORTD.6=0;

§

§

§

% ;
%

%

%

PORTD.3=1;
OCR1BL=0;
}

/1 5R




else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
Na PINB.7==1 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
NJa && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

g (
2R PORTD.6=0;
s OCR1AL=40;
o PORTD.3=1;
oX OCR1BL=0;
g }

o // 6R

~ g else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
2 PINB.7==1 && PINC.6==0 && PINB.6==1 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
(74 && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

Qa {
PORTD.6=0;
OCR1AL=40;
PORTD.3=1;
OCR1BL=0;
}

/1 7R

else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==1 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{

24,

PORTD.6=0;

OCR1AL=40;

PORTD.3=1;

-
-
S
% ;
.
.
-

}

// 8R

else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==1 && PINC.5==0 && PINB.5==1 && PINC.4==0 && PINB.4==0 && PINC.3==0
&8& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )




PORTD.6=0;
(24 OCR1AL=40;
ga PORTD.3=1;
Do OCR1BL=0;
X }

Q= // 9R

(4~ else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
‘:’; PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==1 && PINC.4==0 && PINB.4==0 && PINC.3==0
N &8& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

B9 {  while (PINA.2==0) {
o PORTD.6=0;

N= OCR1AL=90;

(24 PORTD.3=1;

OCR1BL=0; }

}

// 10R

else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==1 && PINC.4==0 && PINB.4==1 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

R { while (PINA.2==0) {
PORTD.6=0;
OCR1AL=90;
PORTD.3=1;

OCR1BL=0; }

}

// 11R

PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==1 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{ while (PINA.2==0) {
PORTD.6=0;
OCR1AL=90;

PORTD.3=1;

% else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&




OCR1BL=0; }
39 }

Do %) else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
N- PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==1 && PINC.3==0
SCA && PINB.3==1 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

o 2% { while (PINA.2==0) {
947

oX PORTD.6=0;

N OCR1AL=90;

N2 %] PORTD.3=1;

o OCR1BL=0; }

& }

(g // 13R

else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==1 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{  while (PINA.2==0) {
PORTD.6=0;
OCR1AL=90;

24,

PORTD.3=1;

OCR1BL=0; }

}

// 14R

else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==1 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{ while (PINA.2==0) {

§
§
§
% ;
%
%
%

OCR1AL=100;
PORTD.3=1;

OCR1BL=0; }




else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
Na PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
NJa &8& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==1 && PINC.0==0 )

xa {  while (PINA.2==0) {
2R PORTD.6=0;

Q2 OCR1AL=100;

o PORTD.3=1;

oX OCR1BL=0; }

oA }

bt // 16R

Qe /] elseif (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
2 PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
(74 && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 && PINB.2==1)

o /' { //while (PINA.2==0) {
/| PORTD.6=0;

/| OCR1AL=100;

/| PORTD.3=1;

//  OCR1BL=0;// }

/1)

// 17R 90 DEGREE

24,

else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==1 && PIND.0==0 && PINA.0==1 && PINC.7==0 &&
PINB.7==1 && PINC.6==0 && PINB.6==1 && PINC.5==0 && PINB.5==1 && PINC.4==0 && PINB.4==0 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{  while (PINA.2==0) {
PORTD.6=0;

OCR1AL=100;

PORTD.3=1;

§
§
§
% ;
%
%
%

}
// 18R 90 DEGREE

else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==1 && PIND.0==0 && PINA.0==1 && PINC.7==0 &&
PINB.7==1 && PINC.6==0 && PINB.6==1 && PINC.5==0 && PINB.5==1 && PINC.4==0 && PINB.4==1 && PINC.3==0
&8& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{ while (PINA.2==0) {




PORTD.6=0;
(24 OCR1AL=1800;

O PORTD.3=1;

Do OCR1BL=0; }

X }

Q= //19R 90 DEGREE

(4~ else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==1 && PINC.7==0 &&
‘:’; PINB.7==1 && PINC.6==0 && PINB.6==1 && PINC.5==0 && PINB.5==1 && PINC.4==0 && PINB.4==0 && PINC.3==0
N && PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

B9 { while (PINA.2==0) {
o PORTD.6=0;

N= OCR1AL=100;

(24 PORTD.3=1;
OCR1BL=0; }

}

//20R 90 DEGREE

else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==1 && PINC.7==0 &&
PINB.7==1 && PINC.6==0 && PINB.6==1 && PINC.5==0 && PINB.5==1 && PINC.4==0 && PINB.4==1 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

R { while (PINA.2==0) {
PORTD.6=0;
OCR1AL=100;
PORTD.3=1;
OCR1BL=0; }

}

// 21R 90 DEGREE

PINB.7==1 && PINC.6==0 && PINB.6==1 && PINC.5==0 && PINB.5==1 && PINC.4==0 && PINB.4==1 && PINC.3==0
&& PINB.3==0 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{ while (PINA.2==0) {
PORTD.6=0;
OCR1AL=100;

PORTD.3=1;

% else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&




OCR1BL=0; }
39 }

Do %) else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
N- PINB.7==0 && PINC.6==0 && PINB.6==1 && PINC.5==0 && PINB.5==1 && PINC.4==0 && PINB.4==1 && PINC.3==0
SCA && PINB.3==1 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

o 2% { while (PINA.2==0) {
947

oX PORTD.6=0;

N OCR1AL=150;

N2 %] PORTD.3=1;

o OCR1BL=0; }

& }

(g // 23R

else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==1 && PINC.4==0 && PINB.4==1 && PINC.3==0
&& PINB.3==1 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{  while (PINA.2==0) {
PORTD.6=0;
OCR1AL=150;

R PORTD.3=1;
OCR1BL=0; }

}

// 24R

else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==0 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==1 && PINC.5==0 && PINB.5==1 && PINC.4==0 && PINB.4==1 && PINC.3==0
&& PINB.3==1 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{ while (PINA.2==0) {

§
§
§
% ;
%
%
%

OCR1AL=150;
PORTD.3=1;
OCR1BL=0; }
}

// 25R  LOOP




else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==1 && PIND.0==0 && PINA.0==1 && PINC.7==0 &&
Na PINB.7==1 && PINC.6==0 && PINB.6==1 && PINC.5==0 && PINB.5==1 && PINC.4==0 && PINB.4==1 && PINC.3==0
NJa && PINB.3==1 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

g (
2R PORTD.6=0;
Q2 OCR1AL=180;
o PORTD.3=1;
oX OCR1BL=0;
g }

o // 26R  LOOP

~ g else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==1 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
2 PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==0 && PINC.3==0
(74 && PINB.3==1 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

Qa {

PORTD.6=0;
OCR1AL=180;
PORTD.3=1;
OCR1BL=0;

}

// 27R  LOOP

24,

else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==1 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==0 && PINC.4==0 && PINB.4==1 && PINC.3==0
&& PINB.3==1 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

{
PORTD.6=0;

OCR1AL=180;

PORTD.3=1;

-
-
S
% ;
.
.
-

}
// 28R LOOP

else if (PINA.5==0 && PINA.2==0 && PIND.1==0 && PINA.1==1 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
PINB.7==0 && PINC.6==0 && PINB.6==0 && PINC.5==0 && PINB.5==1 && PINC.4==0 && PINB.4==1 && PINC.3==0
&8& PINB.3==1 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )




PORTD.6=0;
[2£~) OCR1AL=180;
g PORTD.3=1;
N OCR1BL=0;
e }

A // 29R LOOP

(4~ else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==1 && PIND.0==0 && PINA.0==0 && PINC.7==0 &&
‘:’; PINB.7==0 && PINC.6==0 && PINB.6==1 && PINC.5==0 && PINB.5==1 && PINC.4==0 && PINB.4==1 && PINC.3==0
N && PINB.3==1 && PINC.2==0 && PINB.0==0 && PINC.1==0 && PINB.1==0 && PINC.0==0 )

O {
o PORTD.6=0;
N= OCR1AL=180;
243~ PORTD.3=1;
OCR1BL=0;

}

/ 3k 3k 3k 3k ok 3k 3k 3k 3k 3k %k 3k ok 3k 3k %k %k >k 3k %k %k %k %k 5k 3k 5k %k %k %k %k >k k *k k Black BaCkGrOund & Whlte Line
3k 3k 3k ok 3k 3k 3k 3k ok %k ok 3k 3k 3k k %k 3k ok 3k 3k %k %k %k 3k ok 3k %k %k %k %k 3k k *k %k

24,

//****** |nverse************

//***************************************mverse LEFT MOVEMENT
sk ok 3k ok 3 ok ok ok ok oK ok 3k ok ok ok 3k K ok sk ok oK ok 3k ok ok sk ok oK ok ok ok ok ok o K ok K

/1L

else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==1 && PIND.0O==1 && PINA.0==1 && PINC.7==1 &&
PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==1

% && PINB.3==1 && PINC.2==1 && PINB.0O==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

{
PORTD.6=1;
OCR1AL=0;
PORTD.3=0;

OCR1BL=0;




24, //2L

w7 else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==1 && PIND.0==0 && PINA.0==1 && PINC.7==1 &&
o PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==1
125~ && PINB.3==1 && PINC.2==1 && PINB.0O==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

Do {

o PORTD.6=1;
oX OCRIAL=0;
S PORTD.3=0;
oY OCR1BL=0;
Qa }

Ne //3L

24 else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==0 && PINA.0==1 && PINC.7==1 &&
29 PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==1
&& PINB.3==1 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

{
PORTD.6=1;
OCR1AL=0;
PORTD.3=0;
24,

OCR1BL=0;
}

/]4L

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==0 && PINA.0==1 && PINC.7==0 &&
PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==1
&& PINB.3==1 && PINC.2==1 && PINB.0O==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

{

PORTD.6=1;

§

§

§

% ;
%

%

%

PORTD.3=0;
OCR1BL=0;
}

/150




else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==0 &&
Na PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==1
NJa && PINB.3==1 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

Nga {

24, PORTD.6=1;
QA OCR1AL=0;
N PORTD.3=0;
oX OCR1BL=40;
& }

oY // 6L

~ g else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==0 &&
2 PINB.7==1 && PINC.6==0 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==1
(74 && PINB.3==1 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

Qa {
PORTD.6=1;
OCR1AL=0;
PORTD.3=0;
OCR1BL=40;
}

/7L

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
PINB.7==1 && PINC.6==0 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==1
&& PINB.3==1 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

{

24,

PORTD.6=1;

OCR1AL=0;

PORTD.3=0;

-
-
S
% ;
.
.
-

}
//8L

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.O==1 && PINA.0==1 && PINC.7==1 &&
PINB.7==1 && PINC.6==0 && PINB.6==1 && PINC.5==0 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==1
&& PINB.3==1 && PINC.2==1 && PINB.0O==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )




PORTD.6=1;
(24 OCR1AL=0;
ga PORTD.3=0;
Do OCR1BL=40;
X }

Q= // 9L

(4~ else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
‘:’; PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==0 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==1
N && PINB.3==1 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

oY { while (PINA.5==1){
o PORTD.6=1;

N= OCR1AL=0;

22 PORTD.3=0;
OCR1BL=90; }

}

// 10L

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==0 && PINB.5==1 && PINC.4==0 && PINB.4==1 && PINC.3==1
&& PINB.3==1 && PINC.2==1 && PINB.0O==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

Q2 { while (PINA.5==1){
PORTD.6=1;
OCR1AL=0;
PORTD.3=0;
OCR1BL=90; }

}

// 11L

PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==0 && PINB.4==1 && PINC.3==1
&& PINB.3==1 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

{ while (PINA.5==1){
PORTD.6=1;
OCR1AL=0;

PORTD.3=0;

% else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.O==1 && PINA.0==1 && PINC.7==1 &&




OCR1BL=90; }
(2Z~) }

Do %) else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.O==1 && PINA.0==1 && PINC.7==1 &&
N- PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==0 && PINB.4==1 && PINC.3==0
SCA && PINB.3==1 && PINC.2==1 && PINB.0O==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

o {  while (PINA.5==1){
947

oX PORTD.6=1;

N OCR1AL=0;

N2 %] PORTD.3=0;

o OCR1BL=90; }

& }

(g // 13L

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==0
&& PINB.3==1 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

{  while (PINA.5==1){
PORTD.6=1;
OCR1AL=0;

24,

PORTD.3=0;
OCR1BL=90; }

}

// 14L

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==1
&& PINB.3==1 && PINC.2==0 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

{  while (PINA.5==1){

§
§
§
% ;
%
%
%

OCR1AL=0;
PORTD.3=0;
OCR1BL=100; }

}

// 17L 90 DEGREE




else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==1 && PIND.0==0 && PINA.0==1 && PINC.7==0 &&
Na PINB.7==1 && PINC.6==0 && PINB.6==1 && PINC.5==0 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==1
NJa && PINB.3==1 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

xa {  while (PINA.5==1){
257 PORTD.6=1;

QA OCR1AL=0;

NG PORTD.3=0;

oX OCR1BL=100; }

oA }

39 //18L 90 DEGREE

~ g else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==1 && PIND.0==0 && PINA.0==1 && PINC.7==0 &&
2 PINB.7==1 && PINC.6==0 && PINB.6==1 && PINC.5==0 && PINB.5==1 && PINC.4==0 && PINB.4==1 && PINC.3==1
(74 && PINB.3==1 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

o {  while (PINA.5==1){
PORTD.6=1;
OCRI1AL=0;
PORTD.3=0;
OCR1BL=100; }

}

// 19L 90 DEGREE

24,

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==0 && PINA.0==1 && PINC.7==0 &&
PINB.7==1 && PINC.6==0 && PINB.6==1 && PINC.5==0 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==1
&& PINB.3==1 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

{ while (PINA.5==1){
PORTD.6=1;

OCR1AL=0;

PORTD.3=0;

§
§
§
% ;
%
%
%

}

// 20L 90 DEGREE

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==0 && PINA.0==1 && PINC.7==0 &&
PINB.7==1 && PINC.6==0 && PINB.6==1 && PINC.5==0 && PINB.5==1 && PINC.4==0 && PINB.4==1 && PINC.3==1
&& PINB.3==1 && PINC.2==1 && PINB.0O==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

{ while (PINA.5==1){




PORTD.6=1;
(24 OCR1AL=0;

ga PORTD.3=0;

N OCR1BL=100; }
X }

Q= //21L 90 DEGREE

(4~ else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==0 &&
‘:’; PINB.7==1 && PINC.6==0 && PINB.6==1 && PINC.5==0 && PINB.5==1 && PINC.4==0 && PINB.4==1 && PINC.3==1
N && PINB.3==1 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

oY { while (PINA.5==1){
o PORTD.6=1;

N= OCR1AL=0;

22 PORTD.3=0;
OCR1BL=100; }

}

// 22L

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
PINB.7==1 && PINC.6==0 && PINB.6==1 && PINC.5==0 && PINB.5==1 && PINC.4==0 && PINB.4==1 && PINC.3==0
&& PINB.3==1 && PINC.2==1 && PINB.0O==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

Q2 { while (PINA.5==1){
PORTD.6=1;
OCR1AL=0;
PORTD.3=0;
OCR1BL=150; }

}

// 23L

PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==0 && PINB.5==1 && PINC.4==0 && PINB.4==1 && PINC.3==0
&& PINB.3==1 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

{ while (PINA.5==1){
PORTD.6=1;
OCR1AL=0;

PORTD.3=0;

% else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&




OCR1BL=150; }
39 }

Do %) else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==0 &&
N- PINB.7==1 && PINC.6==0 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==0 && PINB.4==1 && PINC.3==0
SCA && PINB.3==1 && PINC.2==1 && PINB.0O==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

o { while (PINA.5==1){
947

oX PORTD.6=1;

N OCR1AL=0;

N2 %] PORTD.3=0;

o OCR1BL=150; }

& }

(g // 25L LOOP

else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==1 && PIND.0==0 && PINA.0==1 && PINC.7==0 &&
PINB.7==1 && PINC.6==0 && PINB.6==1 && PINC.5==0 && PINB.5==1 && PINC.4==0 && PINB.4==1 && PINC.3==0
&& PINB.3==1 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

{

PORTD.6=1;
OCR1AL=0;
24,

PORTD.3=0;
OCR1BL=180;
}

// 26L LOOP

else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==1 && PIND.0O==1 && PINA.0==1 && PINC.7==1 &&
PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==0
&& PINB.3==1 && PINC.2==1 && PINB.0O==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

{

§

§

§

% ;
%

%

%

OCR1AL=0;
PORTD.3=0;
OCR1BL=180;

}

// 27L LOOP




else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
Na PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==0 && PINB.4==1 && PINC.3==0
NJa && PINB.3==1 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

oa ‘
X PORTD.6=1;
Q2 OCRIAL=0;
X PORTD.3=0;
oX OCR1BL=180;
oA }

S //28L  LOOP

~ g else if (PINA.5==1 && PINA.2==1 && PIND.1==0 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
2 PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==0 && PINB.5==1 && PINC.4==0 && PINB.4==1 && PINC.3==0
(74 && PINB.3==1 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

Qa {

PORTD.6=1;
OCR1AL=0;
PORTD.3=0;
OCR1BL=180;

t
//29L LOOP

24,

else if (PINA.5==0 && PINA.2==1 && PIND.1==0 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
PINB.7==1 && PINC.6==0 && PINB.6==1 && PINC.5==0 && PINB.5==1 && PINC.4==0 && PINB.4==1 && PINC.3==0
&& PINB.3==1 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

{
PORTD.6=1;

OCR1AL=0;

PORTD.3=0;

-
-
S
% ;
.
.
-

}

//***************************************lnverse RIGHT MOVEMENT
3k 3k 3k ok 3k 3k 3k 3k ok sk 3k 3k 3k 3k sk ok 3k 3k 3k 3k ok 5k 3k 3k 3k 3k 3k >k 3k ok 3k %k %k %k kok k




24, // 1R

Qa else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==0 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
o PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==1
125~ && PINB.3==1 && PINC.2==1 && PINB.0O==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

Do {

o PORTD.6=0;
oX OCRIAL=0;
S PORTD.3=1;
oY OCR1BL=0;
Qa }

Ne /1 2R

24 else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==0 && PIND.0==1 && PINA.0==0 && PINC.7==1 &&
29 PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==1
&& PINB.3==1 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

{
PORTD.6=0;
OCR1AL=0;
PORTD.3=1;
24,

OCR1BL=0;
}

// 3R

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0O==1 && PINA.0==0 && PINC.7==1 &&
PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==1
&& PINB.3==1 && PINC.2==1 && PINB.0O==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

{

PORTD.6=0;

§

§

§

% ;
%

%

%

PORTD.3=1;
OCR1BL=0;
t

// 4R




else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==0 && PINC.7==1 &&
Na PINB.7==0 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==1
NJa && PINB.3==1 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

g (
2R PORTD.6=0;
s OCR1AL=0;
o PORTD.3=1;
oX OCR1BL=0;
g }

o // 5R

~ g else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
2 PINB.7==0 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==1
(74 && PINB.3==1 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

Qa {
PORTD.6=0;
OCR1AL=40;
PORTD.3=1;
OCR1BL=0;
}

/1 6R

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
PINB.7==0 && PINC.6==1 && PINB.6==0 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==1
&& PINB.3==1 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

{

24,

PORTD.6=0;

OCR1AL=40;

PORTD.3=1;

-
-
S
% ;
.
.
-

}
/I TR

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
PINB.7==1 && PINC.6==1 && PINB.6==0 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==1
&& PINB.3==1 && PINC.2==1 && PINB.0O==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )




PORTD.6=0;
(24 OCR1AL=40;
ga PORTD.3=1;
Do OCR1BL=0;
X }

Q= // 8R

(4~ else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
‘:’; PINB.7==1 && PINC.6==1 && PINB.6==0 && PINC.5==1 && PINB.5==0 && PINC.4==1 && PINB.4==1 && PINC.3==1
N && PINB.3==1 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

O {
o PORTD.6=0;
N= OCR1AL=40;
243~ PORTD.3=1;
OCR1BL=0;
}

/1 9R

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==0 && PINC.4==1 && PINB.4==1 && PINC.3==1
&& PINB.3==1 && PINC.2==1 && PINB.0O==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

R {  while (PINA.2==1) {
PORTD.6=0;
OCR1AL=90;
PORTD.3=1;
OCR1BL=0; }

}

// 10R

PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==0 && PINC.4==1 && PINB.4==0 && PINC.3==1
&& PINB.3==1 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

{ while (PINA.2==1) {
PORTD.6=0;
OCR1AL=90;

PORTD.3=1;

% else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&




OCR1BL=0; }
B9 }
~Ja // 11R

Do %) else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
N- PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==0 && PINC.3==1
SCA && PINB.3==1 && PINC.2==1 && PINB.0O==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

o 2% { while (PINA.2==1) {
947

oX PORTD.6=0;

N OCR1AL=90;

N2 %] PORTD.3=1;

o OCR1BL=0; }

& }

(g // 12R

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==0 && PINC.3==1
&& PINB.3==0 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

{  while (PINA.2==1) {
PORTD.6=0;
OCR1AL=90;

24,

PORTD.3=1;

OCR1BL=0; }

}

// 13R

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==1
&& PINB.3==0 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

{ while (PINA.2==1) {

§
§
§
% ;
%
%
%

OCR1AL=90;
PORTD.3=1;

OCR1BL=0; }




else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
Na PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==1
NJa && PINB.3==1 && PINC.2==1 && PINB.0==0 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

xa {  while (PINA2==1) {
2R PORTD.6=0;

Q2 OCR1AL=100;

o PORTD.3=1;

oX OCR1BL=0; }

oA }

bt // 15R

~ g else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
2 PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==1
(74 && PINB.3==1 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==0 && PINC.0==1 )

o {  while (PINA.2==1) {
PORTD.6=0;
OCR1AL=100;
PORTD.3=1;

OCR1BL=0; }

}

// 17R 90 DEGREE

24,

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==0 && PIND.0==1 && PINA.0==0 && PINC.7==1 &&
PINB.7==0 && PINC.6==1 && PINB.6==0 && PINC.5==1 && PINB.5==0 && PINC.4==1 && PINB.4==1 && PINC.3==1
&& PINB.3==1 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

{  while (PINA.2==1) {
PORTD.6=0;

OCR1AL=100;

PORTD.3=1;

§
§
§
% ;
%
%
%

}

// 18R 90 DEGREE

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==0 && PIND.0==1 && PINA.0==0 && PINC.7==1 &&
PINB.7==0 && PINC.6==1 && PINB.6==0 && PINC.5==1 && PINB.5==0 && PINC.4==1 && PINB.4==0 && PINC.3==1
&& PINB.3==1 && PINC.2==1 && PINB.0O==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

{ while (PINA.2==1) {




PORTD.6=0;
(24 OCR1AL=1800;

O PORTD.3=1;

Do OCR1BL=0; }

X }

Q= //19R 90 DEGREE

(4~ else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==0 && PINC.7==1 &&
‘:’; PINB.7==0 && PINC.6==1 && PINB.6==0 && PINC.5==1 && PINB.5==0 && PINC.4==1 && PINB.4==1 && PINC.3==1
N && PINB.3==1 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

B9 { while (PINA.2==1) {
o PORTD.6=0;

N= OCR1AL=100;

22 PORTD.3=1;
OCR1BL=0; }

}

//20R 90 DEGREE

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==0 && PINC.7==1 &&
PINB.7==0 && PINC.6==1 && PINB.6==0 && PINC.5==1 && PINB.5==0 && PINC.4==1 && PINB.4==0 && PINC.3==1
&& PINB.3==1 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

R {  while (PINA.2==1) {
PORTD.6=0;
OCR1AL=100;
PORTD.3=1;
OCR1BL=0; }

}

// 21R 90 DEGREE

PINB.7==0 && PINC.6==1 && PINB.6==0 && PINC.5==1 && PINB.5==0 && PINC.4==1 && PINB.4==0 && PINC.3==1
&& PINB.3==1 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

{ while (PINA.2==1) {
PORTD.6=0;
OCR1AL=100;

PORTD.3=1;

% else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&




OCR1BL=0; }
39 }

Do %) else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
N- PINB.7==1 && PINC.6==1 && PINB.6==0 && PINC.5==1 && PINB.5==0 && PINC.4==1 && PINB.4==0 && PINC.3==1
SCA && PINB.3==0 && PINC.2==1 && PINB.0O==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

o 2% { while (PINA.2==1) {
947

oX PORTD.6=0;

N OCR1AL=150;

N2 %] PORTD.3=1;

o OCR1BL=0; }

& }

(g // 23R

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==0 && PINC.4==1 && PINB.4==0 && PINC.3==1
&& PINB.3==0 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

{  while (PINA.2==1) {
PORTD.6=0;
OCR1AL=150;

R PORTD.3=1;
OCR1BL=0; }

}

// 24R

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==1 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
PINB.7==1 && PINC.6==1 && PINB.6==0 && PINC.5==1 && PINB.5==0 && PINC.4==1 && PINB.4==0 && PINC.3==1
&& PINB.3==0 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

{ while (PINA.2==1) {

§
§
§
% ;
%
%
%

OCR1AL=150;
PORTD.3=1;
OCR1BL=0; }
}

// 25R  LOOP




else if (PINA.5==1 && PINA.2==0 && PIND.1==1 && PINA.1==0 && PIND.0==1 && PINA.0==0 && PINC.7==1 &&
Na PINB.7==0 && PINC.6==1 && PINB.6==0 && PINC.5==1 && PINB.5==0 && PINC.4==1 && PINB.4==0 && PINC.3==1
NJa && PINB.3==0 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

g (
2R PORTD.6=0;
Q2 OCR1AL=180;
o PORTD.3=1;
oX OCR1BL=0;
g }

o // 26R  LOOP

~ g else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==0 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
2 PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==1 && PINC.3==1
(74 && PINB.3==0 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

Qa {

PORTD.6=0;
OCR1AL=180;
PORTD.3=1;
OCR1BL=0;

}

// 27R  LOOP

24,

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==0 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==1 && PINC.4==1 && PINB.4==0 && PINC.3==1
&& PINB.3==0 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

{
PORTD.6=0;

OCR1AL=180;

PORTD.3=1;

-
-
S
% ;
.
.
-

}
// 28R LOOP

else if (PINA.5==1 && PINA.2==1 && PIND.1==1 && PINA.1==0 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
PINB.7==1 && PINC.6==1 && PINB.6==1 && PINC.5==1 && PINB.5==0 && PINC.4==1 && PINB.4==0 && PINC.3==1
&& PINB.3==0 && PINC.2==1 && PINB.0O==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )




PORTD.6=0;
(24 OCR1AL=180;
ga PORTD.3=1;
N OCR1BL=0;
X }

Q= // 29R LOOP

(22 else if (PINA.5==1 && PINA.2==0 && PIND.1==1 && PINA.1==0 && PIND.0==1 && PINA.0==1 && PINC.7==1 &&
‘:’; PINB.7==1 && PINC.6==1 && PINB.6==0 && PINC.5==1 && PINB.5==0 && PINC.4==1 && PINB.4==0 && PINC.3==1
N &8& PINB.3==0 && PINC.2==1 && PINB.0==1 && PINC.1==1 && PINB.1==1 && PINC.0==1 )

O {

o PORTD.6=0;
N= OCR1AL=180;
(24 PORTD.3=1;
OCR1BL=0;

}

else

{

PORTD.6=1;

24,

OCR1AL=0;

PORTD.3=1;

OCR1BL=0;

}
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